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MASTER OF COMMERCE (M.com) 

Term-End Examination 

December, 2013 

MCO-01 : ORGANISATION THEORY AND 
BEHAVIOUR 

Time : 3 hours 	 Maximum Marks : 100 
Weigh tage : 70% 

Note : Answer any five questions. All questions carry equal 
• marks. 

1. Distinguish between functional structure and 
divisional structure of an organisation. Explain 
various dimensions of organisation structure. 10+10 

2. (a) Describe the individual perspective of 
organisational behaviour. 	 10+10 

(b) Discuss the small and large group 
perspective of organisational behaviour. 

3. (a) Describe the psychoanalytic theory of 
personality. 	 10+10 

(b) How can a manager use the knowledge of 
emotions for directing subordinates in an 
organisation ? 

4. What is a group ? Discuss various variables of 
group structure. 	 4+16 
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5. (a) Describe the dimensions of organisational 
climate. 	 10+10 

(b) How can you create favourable 
organisational climate ? 

6. What are the barriers to accurate perception ? 
Discuss the techniques to be used for developing 
perceptual skills. 	 8+12 

7. Discuss the sources of resistance to change. How 
can you over come resistance to change in an 
organisation ? 	 8+12 

8. Write notes on any two of the following : 	10+10 
(a) Schedules of Reinforcement 
(b) Job Enrichment 
(c) Group Cohesiveness 
(d) Managing Multinational Organisation 
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